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UNIT-1: MODERN HISTORY OF INDIA AND INDIAN CULTURE
SECTION A 4x10=40
Answer all the questions. Answer not exceeding 150 words each

1.  Trace the origin of the theosophical society. Indicate its significance in the history of Tamil
Nadu.
Wy eprefser gemuulear CHTBBHMmS euenys. LIJIDIOEHTET FenLI  6T6IBTED  616d6 ! HLODBHTL 196D
SIHET (PEHFWHFluSHmeH UBs SBLLIGHS.

2. Enumerate the Main provisions of
a. Lucknow Pact of 1916.
b. Communal Award of 1932.
Lelteu(meueieuBmlen (&SI Snpisenen LILIQuiedl(hes
a. G 2 L aiigHmed, 1916
b. a@liuans @&IHEB, 1932

3. Evaluate the contributions and significance of Thilak of South India in Indian

Independence Movement.
OhHw aBHmev BuIbsHHe0 OFHerealbaHlwmalear Heosfer Lmseiy OBBID (PHHWSHHISHMmDH
HIIG CFuis

4. Compare and contrast the features of Government of India Act 1919 and 1935
ObhHw SPFTHISEF FULD 1919 wB@ID 193561 FABLLbDFRISM6T QULILG UT(HHRISET.

UNIT- II: SOCIAL ISSUES IN INDIA AND TAMIL NADU
SECTION A 4x10=40
Answer all the questions. Answer not exceeding 150 words each

5. Bring out the role of N.G.Os in social development of Tamilnadu
SODHTLIQED Fepd UeNTFFSEG DTHFTIT Hipleuehisaler Lmiens GeuelosmeantTs

6. Enumerate the organizational structure of community development program.
oays GbUTL (B HLSHHaT Himleuer s Lenwlill U efleur.

7.  What is regionalism. What are causes of regionalism and suggest remedies to eliminate
regionalism
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Hgmbg o _ewiTe]  GIa@IBIED  6leIel?  SHISMBSTE  SIJOIHISET  BEIDd  LgThHlul o _awiTalener
SblugBarer SHralemer Lboiemnyoseab

8.  Discuss the Socio-Economic impact of COVID-19 in Tamilnadu.
S0pEHH60 Csmall-19 QUBHOSTBBI gBUBSIHW Fepsll QUIHMTHTT HTHHD GHBPHH aleurs).

UNIT-IITI : GENERAL APTITUDE & MENTAL ABILITY (SSLC STANDARD)
SECTION A 2x10=20

Answer all the questions. Answer not exceeding 150 words each

9. Answer the following questions
LeiTeu(hlD aeTehBEhdbE alenL U6l

a. A car travels 90km in 2 hours 30 minutes. How much time is required to cover

210 km?
QM WHWHH 90 &5 HMISMSE SLES abSHHH0sTeMEnDd GHIb 2 wewil 30 HIHL RISET.
96 waWha 210 &6 HMIHMHS &5 1BHHIHCHTeTEHD GBI el6ilelene,?

b. If a principal is getting doubled after 4 years, then calculate the rate of interest.
T SiFeTaIH 4 SLemiBHeiled @Tewi(h LOLMISTHBSH 616160, ULl NHHMHSH SIS

10. A fruit vendor bought some mangoes of which 10% were rotten. He sold 33% %of the

rest. Find the total number of mangoes bought by him initially, if he still has 240
mangoes with him.

@® up olwrumd eurmdw  wmbuwksefedy 10%  Sipdulmbeer. s sTemeaumsied 33%%

mbLpmiseme  alBmiell L. sBGurg 240 wmbupmiseT SeuflLd mbdlamen 6aie, (WHeled
ST TS W GIomdg  LOMbLIPEISE6T  eTevemldbendenidh HTewld

UNIT-1: MODERN HISTORY OF INDIA AND INDIAN CULTURE
SECTION - B 4x15=60

Answer all the questions. Answer not exceeding 250 words each

11.  Explain the Socio-Economic impact of British Rule in India.
AhFHwraled oymise QL Fwmed gBULL Fepd - QUIHTHTTES SHTHamiGmen aieu.

12.  What was the political set up aimed by the British Government for

India after the World War II?
@rewiLmd o euall Gummpdd LB elugliu’L & bHwurelsd emwwl  GeuemiBoIoe
SBIFHGow 9Irs apLlwg?

13.  Discuss the contributions of Madras Native Association, Madras Mahajana Sabha and the

Nationalist Press to the growth of Nationalism in Tamilnadu.
SOPHTL IR  ChrFlwanssdHler  aueTFdloE OFamarauTdsel gFmsD, OCFaHmer ST  FeLl
wBoid Caflwears usHflws S FweuBper LRsefiLSmen LB alleursdsea]b.
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14.  Write a detailed note on the influence of Tamil Language and Tamilnadu on Gandhi and
his freedom movement.

&MHYH BBID DeuIH alhHmev BuisSdsHHer g SO Goml BmId SHODHTL 9T CFe06UTSHE)
ups elfleurs e1p&IS

UNIT- II: SOCIAL ISSUES IN INDIA AND TAMIL NADU
SECTION - B 4x15 =60

Answer all the questions. Answer not exceeding 250 words each

15. What is population explosion? Do you consider population explosion as an issue hindering

economic development or as a resource for national development? Explain.
W&HHTOFHTMS  Oeugli]  6T@IBT60  6T6llen?  LDSHH6TOSHTenS  Geugli] BT  CQUIT[HETTSHTY

(WIBaIBBHMmS LTHSHBH  DIGV60H  HILIGET  (PTCaBBHHMBE 6UEILOTS  DIMDEHMBHI  6TIBI
eTewIaIFSTEemT? alleulds.

16.  Discuss the school education system in Tamil Nadu and explain the role of government in

providing quality education.
SODHTLIgeL  Leiell  sevall (pemmenw!  aleumd. SHIwmer He0al aUPEIGHMSHD DFleT LImigene
allend@Hs.

17.  What is urbanization? Examine the causes, effects and future trends of urbanization.
BSBJLOUIDTHED  6IIIMBIT60 61667  [HSHJLOLIDTHEVSSTE  SHTJewID,  allenene] LOBEBID  61HTSHTeVLD
GuraiBeuBenm SLU16| OCFUIs.

18.  Critically examine the special welfare measures available for women and children.
QU6TTH6T LOBMID GLHMBHHET HEVEISHTR FIBLIL| L AIYHMBHMET SHLTTUIS.

UNIT-III : GENERAL APTITUDE & MENTAL ABILITY (SSLC STANDARD)
SECTION - B 2x15=30

Answer all the questions. Answer not exceeding 250 words each
19. In the Annual sports meet, among the 260 students in X standard in the school, 90

participated in Kabadi, 120 participated in Hockey, and 50 participated in Kabadi and
Hockey. A Student is selected at random. Find the probability that the student participated

in
i. Either Kabadi or Hockey,
ii. Neither of the two tournaments,

iii. ~ Hockey only,
iv.  Kabadi only,
V. Exactly one of the tournaments.
oemi®  allememwim (B Gumiiguied 108 eu@lied ugsSHep 260 wreaieTsefsd, 90 Gui Uy
Gumiiguisvid, 120 GuT emrshadl Gumiuied wBEWL 50 GuT Gyewi® Gumluied SHeVbHIR
CETeTHSIBETT. @(H LOTEwTeUeT FLoaUTUILIL (Wenpulled GHTHOHBHBLILGH BT CHTHOHBHGLD
LDIT 6001 611 65T
1. BUY SI6V60FH aBTHd CUTLHefled Hevba I GCETeTeuSHBSTE
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20.

l.

iii.
iv.

V.

@rewih Gumiguieud H6evbHEH CBHTETEMTLOED E)(HLILISHBEHT 60T
apTeHHuled WL B HevbdH OFT6TeUBHBSHTET

&LIQUTled DL (BLD H6evbHEHI OBTETEUHMBETE

gflwrs @esled WL (B HevbhdHl OBTeTEUHBEHT 60T

BEHDHHE| HT6wIH

Answer the following questions

LNevTeu(HLD e &H e (&) y allenL_wier

a.

In a parallelogram PQRS (see the diagram) PM and PN are
the heights corresponding to QM R the sides QR and RS respectively.
If the area of the parallelogram is 900 sq. cm and the length of PM and PN are 20 cm and
36 cm respectively, find the length of the sides QR and SR.

PORS eaiug 9T Boewisih (ULSmeHd saaieas). udssd QR @t o wrb PM, udsb
RS @61 2wy PN. @ewewiarsder ugliviena 900 &.0&.15, PM wpmid PN &6 sienesel
wedpBw 20 QF.18, 36 QF.18 eafed usbsd QR wBmid RS @61 oenemeis sres

P S
36 5.5 N

20 asb

QM R

A cricket team won two matches more than they lost. If they win, they get 5 points and
for loss (- 3) points, how many matches have they played if their total score is 50.

Qb LeLlubgs oewil (cricket team) sevbgiOsTemi  GuT seiley, CHTBBeNs el &)
S LBIG6T DIFHHTE Ceuaipriser. Geuppsladd 5 yeteflaend, Gsmevaldd (— 3) UsTefaemnbd

UPRIBLILGS BT, DiHH ewl  CTHHHH0 50 UeTaldel CQUBBIHHSTD, DbHSH Dlewl
BHeUHSHIOBTEWIL L' L MiHerle eTenicnlldbendamuld STewIsb.
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